
Name:____________________                             Math 260 

Start Time:_________________                      Quiz 3 (30 min) 

End Time:__________________ 

Date:______________________ 

 

1. (1, 1, 1, 1, 2 points) If  𝐴 = [
−2 − 0 − 5
−7 − 3 − 1

]  and  𝐵 = [
−4 − 4 − 7
−9 − 1 − 2

] ,  find  

 

a) 𝐴 + 𝐵                                                             b) 𝐵 − 𝐴                                                 c) −2𝐵 

 

 

 

 

 

 

 

 

d) −𝐴                                                                 e) 4𝐴 − 3𝐵 

 

 

 

 

 

 

 

 

 

 

 

 

2. (2 points) Prove:  If  𝑘𝐴 = 0  (where k is a scalar and A is a matrix), then  𝑘 = 0  or  𝐴 = 0 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

3. (2 points) Prove: If A and B are 𝑚 × 𝑛 matrices and k is a scalar, then  𝑘(𝐴 + 𝐵) = 𝑘𝐴 + 𝑘𝐵 

 

 

 

 

 

 


